OPTIONAL SHELF SYSTEM INSTALLATION

a. INSTALL SHELF MOUNTING BRACKETS INTO BOX
AS SHOWN. BRACKETS CAN BE SHORTENED IF

REQUIRED.

(6) #6-32 x 3/16" LONG
PAN HEAD SCREW

CUT/BREAK
LOCATION

A

/\

)/

CUT/BREAK
LOCATION

b. INSTALL SHELF ONTO SHELF MOUNTING BRACKET.
SQUEEZE PLASTIC TABLS TO REPOSITION SHELF.
INSTALL ELECTRONIC COMPONENTS (SOLD
SEPARATELY) AND MAKE WIRING CONNECTIONS AS
REQUIRED.

SQUEEZE TABS TO

9/
']/ ' 4 m e
®
e
N, LR
A e g‘ [ ] »
. e

o ol

10

REPOSITION SHELF

ACCESSORY BRACKET INSTALLATION

a. INSTALL ELECTRONIC DEVICE
(SOLD SEPARATELY) ONTO
ACCESSORY BRACKET.

T6-HLB BRACKET &
ELECTRONIC DEVICE
(SOLD SEPARATELY)

BRACKET

ACCESSORY

(4) #6-32 x 3/16" LONG
PAN HEAD SCREW

b. MAKE WIRING CONNECTIONS
AS REQUIRED AND INSTALL
ACCESSORY BRACKET INTO
EITHER SIDE OF THE BOX AS
SHOWN.

o
0

(2) #6-32 x 3/16" LONG
PAN HEAD SCREW

(8) #6-32 x 1/2" LONG
PAN HEAD SCREW

e
N
7
]

\ / /0 L3 ) L
¢ St I
A P YA
§% SANIZANNIZIN
DN LA
M
éi@%i%N%
> .
D k%@%&ﬂﬁ%

(2) SHELF

NG

COVER INSTALLATION

UPPER COVER ™l

LOWER COVER

(2) #6-32 x 1/2" LONG
PAN HEAD SCREW

FS

PWB-HVBX Installation Instructions
244 Bergen Boulevard, Woodland Park, NJ 07424, Phone: 973.785.4347 - Fax: 973.785.4207

SEE TRIPLE PLAY
KNOCKOUT DETAIL

3

(8) CABLE TIE-WRAP POINT

(BEND INWARD WITH
SCREWDRIVER)

1" & 1-1/4" & 1-1/2"
KNOCKOUT

1/2" & 3/4"

/7 I

o)

° o)

(K

KNOCKOUT

BOTTOM OF
FLATSCREEN

O

/GROUND SCREW LOCATION

o) O
. . RECOMMENDED
DISTANCE
| . . 6.75-8.50 |
USE SUPPLIED BLANK PLATE TO
CLOSE OPENING IF REQUIRED
REMOVE CENTER DISK TRIPLE PLAY KNOCKOUT DETAIL
[+ o o o [+] o o
I 5 I I 5
; B ; J )
> — > > —
[+ o o o [+] o o
FOR 1" CONDUIT FOR 1-1/4" CONDUIT FOR LOW VOLTAGE DEVICE FOR RAYCO 420 ELECTRIC BOX
(SOLD SEPARATELY)
(4 SCREWS SUPLIED)
43280 LIT1668



WOOD STUD INSTALLATION
WALL OPENING: 14-1/2" x 29"

ENSURE REAR SURFACE OF BOX DOES NOT
EXTEND PAST SURFACE OF WALL STUD

16" STUD CENTERS
(2" x 4" WOOD STUDS SHOWN)

; o

L WALL THICKNESS FROM
STUD TO BOX EDGE

STEEL STUD INSTALLATION
WALL OPENING: 14-1/2" x 29"

.,= ; o] =1

|2

t WALL THICKNESS FROM
STUD TO BOX EDGE

MOUNT BOX TO
THIS SURFACE

(4) #7 x 7/16" SELF-DRILLING SCREW N

SPACER SURFACE TO /\
INSIDE STUD SURFACE N
N

(2) STUD SPACER REQUIRED

WHEN MOUNTING BOX TO

OPEN END SIDE OF STUD

ENSURE REAR SURFACE OF BOX DOES NOT
EXTEND PAST SURFACE OF WALL STUD

16” STUD CENTERS
(2" x4” STEEL STUDS SHOWN

SPACER SURFACE TO STUD
EDGE ON DRYWALL SIDE

A

oy,

[

SIDE

<

oL

/

(8) #8 x 1” SCREW

_—
P
N
|
T~
Y
Y o8 8
‘\\ |
~_|
) T~
.
. &
\'
DRYWALL

(8) #8 x 1” SCREW

]

LP-TBRT CABLE RETRACTOR INSTALLATION

a. INSTALL LP-TBRT CABLE RETRACTORS (SOLD SEPARATELY)
ONTO CABLE RETRACTOR MOUNTING BRACKETS.

(8) #6-32 x 3/16" LONG
PAN HEAD SCREW

CANHOLD 10R 2

RETRACTORS

LP-TBRT FLANGE TOP BRACKET

MUST BE REMOVED

¢ ¢ LP-TBRT
o| CABLERETRACTOR
R (SOLD SEPARATELY)
o
[ ] [ ]

BOTTOM BRACKET

b. HANG RETRACTOR INSIDE BOX AND SECURE WITH #6-32 SCREWS
AND MAKE WIRING CONNECTIONS AS REQUIRED.

(3) #6-32 x 3/16" LONG —
PAN HEAD SCREW




